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SOCIAL SCIENCE
lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku

Time allowed : 3 hours Maximum Marks: 80

fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 80

General Instructions :

(i) Answer to questions carrying 2 marks should not exceed 30 words each.

(ii) Answer to questions carrying 4 marks should not exceed 60 — 80 words each.

(iii) Answer to questions carrying 6 marks should not exceed 100 — 125 words each.

(iv) Maps should be securely tied in the middle of the Answer-Book.

(v) Attempt all parts of a question together.

(vi) Stencils or templates for drawing outline maps may be used wherever necessary.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA

(ii) 4 vadksa okys izR;sd iz'u dk mÙkj 60 ls 80 'kCnksa ls vf/kd u gksA

(iii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA

(iv) ekufp=kksa dks mÙkj&iqfLrdk dh chp esa etcwrh ls ckaf/k,A

(v) fdlh iz'u ds lHkh Hkkxksa ds mÙkj lkFk&lkFk nhft,A

(vi) tgk¡ dgha vko';d gks LVSaflyksa vFkok lkapksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k tk

ldrk gSA

Roll No.

Series RKM/NE Code  No. 32/1
Please check that this question paper contains 7 printed pages + 3 Maps.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
Please check that this question paper contains 24 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 + 3 ekufp=k gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 24 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua- NE



232/1/NE

1. Mention the impact of the ‘Reform Movements’ in the field of emancipation of women.
Give any four points. 4×½=2

L=kh&eqfä ds {ks=k esa ^lq/kkj vkanksyuksa* ds izHkko dk mYys[k dhft,A dksbZ pkj fcUnq nhft,A

2. Who wrote the ‘Ain-i-Akbari’ ? State any two characteristics of this book. 1+1=2

^vkbus&vdcjh* fdlus fy[kh \ bl iqLrd dh fdUgha nks fo'ks"krkvksa dk mYys[k dhft,A

3. What are non-ferrous metals ? Give two examples of non-ferrous metals. 1+1=2

vykSg /kkrq,¡ D;k gSa \ vykSg /kkrqvksa ds nks mnkgj.k nhft,A

4. What is ‘Public Distribution System’ ? State its main function. 1+1=2

^lkoZtfud forj.k iz.kkyh* D;k gS \ bldk eq[; dk;Z crkb,A

5. Which is the most effective organ of the United Nations (UN) ? Write two of its functions.

1+1=2

la;qä jk"Vª ¼la-jk-½ dk lcls vf/kd izHkko'kkyh vax dkSulk gS \ blds nks dk;Z fyf[k,A

6. Explain any two methods of mineral conservation. 2×1=2

[kfut laj{k.k dh fdUgha nks fof/k;ksa dks Li"V dhft,A

7. Explain   with   examples   the   main   difference   between   economic   and   non-economic
activities. 2

vkfFkZd vkSj vkfFkZddsrj fØ;kvksa esa mnkgj.kksa lfgr eq[; vUrj Li"V dhft,A

8. Explain any two causes of gender inequality. 2×1=2

ySafxd vlekurk ds fdUgha nks dkj.kksa dh O;k[;k dhft,A

9. Explain any two efforts made by India to promote peace in the world through United
Nations. 2×1=2

la;qä jk"Vª ds ek/;e ls Hkkjr ds fo'o 'kkfUr dks c<+kok nsus okys fdUgha nks iz;klksa dks Li"V

dhft,A
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10. Look at the photograph of the great personality given below and answer the questions
that follow : 1+1=2

(10.1) Name the personality shown in the photograph.

(10.2) Mention his major contribution towards the society.

uhps fn, x, ,d egku~ O;fä ds QksVksxzkQ dks nsf[k, vkSj fuEufyf[kr iz'uksa ds mÙkj nhft, %

(10.1) bl QksVksxzkQ esa fn[kk, x, O;fä dk uke crkb,A

(10.2) bl O;fä dk lekt ds izfr eq[; ;ksxnku crkb,A

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 10.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ij gSA

Explain any two contributions of Annie Besant in the field of education. 2×1=2

,suh fclsaV ds f'k{kk ds {ks=k esa fdUgha nks ;ksxnkuksa dks Li"V dhft,A

11. “The Harappan culture was distinct from all its contemporary cultures of the world.”
Substantiate this statement with two arguments. 2×1=2

^^gM+Iik laLÑfr viuh ledkyhu lalkj dh lHkh laLÑfr;ksa ls fHké FkhA** nks rdZ nsdj bl dFku
dh iqf"V dhft,A

12. “The large number of livestock population has put great pressure on agricultural land in
India.” Support this statement with two arguments. 2×1=2

^^Hkkjr esa i'kqvksa dh cM+h la[;k Ñf"k Hkwfe ij Hkkjh ncko Mkys gq, gSA** nks rdZ nsdj bl dFku dh
iqf"V dhft,A

13. Describe any four functions of the Constituent Assembly in building the ‘New India.’4×1=4

OR

Describe  any four points of changing world political scenario after the Second World
War.
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^uo Hkkjr* ds fuekZ.k esa lafo/kku lHkk ds fdUgha pkj dk;ks± dk o.kZu dhft,A

                   vFkok                   vFkok                   vFkok                   vFkok                   vFkok

f}rh; fo'o ;q) ds ckn lalkj ds cnyrs jktuhfrd ifjn`'; dk o.kZu] dksbZ pkj fcUnq nsrs gq,
dhft,A

14. Describe any four functions of ‘Home Guards’. 4×1=4

                                    OR

State any four damaging effects of ground movements caused by earthquakes.

^gkse xkM~Zl* ds fdUgha pkj dk;ks± dk o.kZu dhft,A

                    vFkokvFkokvFkokvFkokvFkok

HkwdEiksa ds dkj.k tehu esa gypy gksus ds fdUgha pkj {kfrdkjd izHkkoksa dk mYys[k dhft,A

15. Explain the term ‘Agriculture’. Distinguish between net sown area and gross cultivated
area, with examples. 2+2=4

OR
How can we overcome the problem of declining trend in food production ? Suggest any
four measures in this regard.

^Ñf"k* ¼,fxzdYpj½ 'kCn dh O;k[;k dhft,A 'kq) cks;k x;k {ks=k vkSj dqy Ñf"k ds vUrxZr {ks=k esa

mnkgj.kksa lfgr vUrj Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

[kk| mRiknu dh ?kVrh gqbZ izo`fÙk dh leL;k dks ge fdl izdkj gy dj ldrs gSa \ bl lanHkZ esa

dksbZ pkj mik; lq>kb,A

16. Explain   physiographic   and   economic   factors   with   examples,   which   influence   the
distribution pattern of the railway network in the country. 2+2=4

ns'k esa jsy&tky ds forj.k izfr:i dks izHkkfor djus okys HkwvkÑfrd vkSj vkfFkZd dkjdksa dks mnkgj.kksa

lfgr Li"V dhft,A

17. How does the Government of   India   protect   the   interests of   the consumers   by
standardisation of products ? Explain any four points in this regard. 4×1=4

Hkkjr ljdkj mRiknksa dk ekudhdj.k djds miHkksäkvksa ds fgrksa dh fdl izdkj lqj{kk djrh gS \ bl
lanHkZ esa fdUgha pkj fcUnqvksa dks Li"V dhft,A

18. Define the term ‘Unemployment’.  How does disguised unemployment arise mainly in
rural areas ? Explain with examples. 1+3=4

^csjkstxkjh* 'kCn dh ifjHkk"kk nhft,A izPNé csjktxkjh eq[;r% xzkeh.k {ks=kksa esa fdl izdkj mRié gksrh
gS \ mnkgj.kksa lfgr Li"V dhft,A
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19. Suggest any four measures for treating a person Who has been bitten by a venomous
snake. 4×1=4

fo"kSys lk¡i }kjk dkVs x, O;fä ds mipkj ds fy, dksbZ pkj mik; lq>kb,A

20. “Iron and steel industry is governed by its close proximity to raw materials.” Examine
this statement by giving four examples. 4×1=4

^^yksgk vkSj bLikr m|ksx dh fLFkfr dPps eky dh fudVrk ls fu;af=kr gSA** pkj mnkgj.k nsdj bl
dFku dh leh{kk dhft,A

21. Define the term ‘Watershed’. Describe any five programmes  which are included in the
watershed development. 1+5=6

                          OR
Describe any six advantages of forests. 6×1=6

^ty&laHkj* 'kCn dh ifjHkk"kk nhft,A ty&laHkj fodkl esa 'kkfey fd, x, fdUgha ik¡p dk;ZØeksa dk
o.kZu dhft,A

              vFkok              vFkok              vFkok              vFkok              vFkok

ouksa ds fdUgha N% ykHkksa dk o.kZu dhft,A

22. Explain any six repressive measures taken by the British Government against Boycott
and Swadeshi Movements. 6×1=6

OR
Why was the ‘Simon Commission’ appointed ? How did Indians react to it ? Explain
any five points. 1+5=6

cfg"dkj vkSj Lons'kh vkanksyuksa ds fo#) fczfV'k ljdkj }kjk mBk, x, fdUgha N% neukRed mik;ksa
dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

^lkbeu deh'ku* dh fu;qfä D;ksa dh xbZ \ Hkkjr ds yksxksa us blds izfr D;k izfrfØ;k dh \ fdUgha
ik¡p fcUnqvksa dks Li"V dhft,A

23. Who is a disabled person ? How does the ‘Person With Disability (PWD) Act, 1995’
safeguard the interests of disabled persons ? Explain five provisions of this Act. 1+5=6

OR
Explain   any   six  major  rights   of a  child   as   recommended  by   the   United  Nations
Convention on the Rights of the Child, 1992. 6×1=6

fodykax O;fä dkSu gS \ ^fodykax O;fä vf/kfu;e] 1995*] fodykax O;fä;ksa ds fgrksa dh lqj{kk fdl
izdkj djrk gS \ bl vf/kfu;e ds ik¡p izko/kkuksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

f'k'kq vf/kdkjksa ls lEcfU/kr la;qä jk"Vª izk:i] 1992 }kjk f'k'kqvksa ds fy, lq>k, x, fdUgha N% izeq[k
vf/kdkjksa dks Li"V dhft,A
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24. (a) (i) On the given political outline map of India (on page 8) the place is shown by

No. 1, where the ‘Sun Temple’ is located. Write the correct name of that place

on the dotted line marked on the map.

(ii) On the same map of India (on page 8) shade and name the state where Belur

and Halebid temples are located. 1+1=2

(b) On the given political outline map of India (on page 9) are shown four

geographical features A, B, C and D. Identify these features with the help of the

map key and write their correct names on the line marked against each in the map.4×1=4

OR

On the given political outline map of India (on page 10) locate and label the following

features : 4×1=4

(i) Digboi - Oil Refinery

(ii)    Ahmedabad - Cotton Textile Centre

(iii)   Amarkantak - Thermal Power Station

(iv)   Vishakhapatnam - Sea-port

(v) (i) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 8 ij½ esa la[;k 1 }kjk ml LFkku dks

fn[kk;k x;k gS tgk¡ ^lw;Z eafnj* fLFkr gSA ekufp=k ij vafdr [kf.Mr js[kk ij ml LFkku

dk lgh uke fyf[k,A

(ii) HkkjrHkkjrHkkjrHkkjrHkkjr ds blh ekufp=k ¼i`"B 8 ½ esa ml jkT; dks Nk;kafdr dhft, vkSj uke fyf[k, tgk¡

ij csywj vkSj gsysfcM eafnj fLFkr gSaA

(c) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 9 ij½ ij pkj HkkSxksfyd y{k.k d] [k] x vkSj

?k fn[kk, x, gSaA ekufp=k esa nh xbZ dqath dh enn ls bu y{k.kksa dks igpkfu, vkSj ekufp=k

esa izR;sd ds lkeus nh xbZ js[kk ij muds lgh uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 10 ij½ ij fuEufyf[kr y{k.kksa dh fLFkfr

fn[kkb, vkSj muds uke fyf[k, %

(i) fMxcksbZ — rsy ifj"dj.k'kkyk

(ii) vgenkckn —  lwrh&oL=k dsUnz

(iii) vejdaVd — rki 'kfä dsUnz

(iv) fo'kk[kkiVue — leqnzh&iÙku
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Note : The following question is for the Blind Candidates only in lieu of Q.  No. 24
(a) and (b).

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ¼v½ vkSj ¼c½ ds LFkku

ij gSA

(24.1) In which state is the ‘Sun Temple’ located ?

(24.2) Mention the state where Belur and Halebid temples are located.

(24.3) Name the leading sugarcane producing state.

(24.4) Name the northern terminal station of Golden Quadrilateral.

(24.5) In which state is Digboi Oil Refinery located ?

(24.6) Name the state where Amarkantak Thermal Power Station is located. 6×1=6

(24.1) ^lw;Z eafnj* fdl jkT; esa fLFkr gS \

(24.2) ml jkT; dk uke crkb, ftlesa csywj vkSj gsysfcM eaafnj fLFkr gSaA

(24.3) xés ds vxz.kh mRiknd jkT; dk uke crkb,A

(24.4) Lof.kZe prqHkqZt ds mÙkjh vfUre LVs'ku dk uke crkb,A

(24.5) fMxcksbZ rsy ifj"dj.k'kkyk fdl jkT; esa fLFkr gS \

(24.6) ml jkT; dk uke crkb,] tgk¡ vejdaVd rki 'kfä dsUnz fLFkr gSA
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